Workshop 1 Solutions

1 GivendV/dt = 2, find dh/dt when h = 5. V = v’ h and, from similar
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when b = 5.
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6 We are giwmﬂmt% = 300 km/h By the Law of Cosines,
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The quickies about derivatives:

1. True/False: (justify!) If f(z) is differentiable:

@ 5 (VI@) = rs e () g (VD) =5 2 Faise
2. (a) y'= —é(af + )P (1 + 2\;)
y_ @@+ 1) 8z 6 15
by = (22 +1)%(3z — 1)° (x2+1 241 3:1;—1)
(c) 3y = —sin(z)e®® — sin(e”)e”
Postscript:

Alternate Solution to Q2 about the waterskier:
(I'1l use the notation of Stewart’s solution to Q100 on p.269 — as given on Leal)

Although the method of similar triangles gives the answer “immediately”, since ¢ = 4_ 5o that

V241
dy = \/§T ?; = \}%, one could also use Pythagoras as well.
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